Algebra IA

Lesson 2.3

Subtract Real Numbers

Warm-Up

Telt which Addition Property is shown in each of the following.

(@ 5+(-5)=

J—N veese PVWW Prppérties of Addition
: ' Commutative Property a+b=b+a
() 7+(=3)=-3+7 Cﬁhmumf[‘we @@?}W
Associative Property (a + b)+ c=a+ (b + c)
+9)+(-3)= —
(© (x ) ( 3) * +é9 +( 3)) Identity Property a+0=a
Qsectanive | pofeopsy
(d) -15+0=-15 Inverse Property a+ (— a) =0
Toewriry Deeterty
Example 1. Subtract Real Numbers
Find the difference by rewriting with the subtraction rule. .
@ —18-3 : | ‘ Subtraction Rule
1§ i.(v?)) = Subtracting b from a is defined as adding
®) - 9 (_1 2) the opposite of btoa.
*'(17) @ a-b=a+(-b)
© 13-(-5)
3+(5)- (18
Example 2, Evaluate a Variable Expression
Evaluate each expression when x = 8.8 and y = -1.4.
ay x—y+23 by 1ld4+y—x € x+51-y

(59)-(-14)+2-3

Try It!
Evaluate the exprassion when X =

L4 +-14)-(5%)

-3 and ¥ = 5. Show the analysis that leads to your answer.

(g',g)f C.l- (’1-4)

(@) x-y+8 ® y-(x-2) @ O-49-x
(=3)- @"’“3’ (5)~((-3)-2) (65)-4)-(-3)
0> o



Example 3. Using Subtraction to Evaluate Change
The tempetature one morning was 15°C. By midday, the temperature was -5°C. What was the change in temperature?

-5 -15°C =

What were the morning and rmdday temperatures in °F? (Use the formula F =2

Lefmwe LWW
" o -9 F
F:Z‘%@Z'Eﬂ"é F—FGHB.LL =23 NLDDN?- =28

What was the change'in temperature in °F?
Qgﬁgq r:wgé TH‘?' CH’W‘"@& N Twaﬂaﬁmﬂe XY
a pecmease o 36°

Try It!
A new car is valued at $15, 000 One year later, the care is valued at $12,300.

% Vidiwe of The VCMQ’—.
sed gy ~§2700

(a) What is the change in value of the car?

[2,3% - [S, o0 = ~2700

(b) Assume the car continues {o lose value the same way, year after year. Write an expression that will give the value of

the car after {years.
' LS 000— 2,700

(c} Use your expression to predict the value of the car after 5 years.
’ — = | O
| 5,000 — 2, 700(8) = |5
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Assignment: Page 82-83 (4 - 44) even

Review:
Write the following numbers in increasing order.

2 33 33

1. 5.31,5.04,~5.32,-6.2,6.3,5.3 2. - 6—5,6_.42,?,—6.3,—?,6.05
Evaluate the expression.
3. [3.76] 4. |-74 5 14-|-7

6. —17-(-14) 7. —32-(=27)-9 8. 35-0-(-19)



